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Question Paper

Post Basic Bsc Nursing

Q. No. 1 | Specialized cells found throughout the nervous system that transmit signals using electrochemical processes are
0042001 | Gf¥epT 5 H Waw U WA arell fawiy Sif¥er o sogel sfied oo O 99T &1 GANG Sl 872
Option A Soma
PHON A | e
Dendrites
Option B =
. Neurons
Option C q
Option D Axons
ption T
gor_rect C
ption
Q. No. 2 The three auditory ossicle structures present in the ear are
0042002 S | "t o= g9 HYEY 2
. Pinna, Auditory canal and Tympanic canal
Option A Ffeedl &A1 Aty T
. Utricle, Saccule and Semicircular canal
Option B gfewa, degd iy 9 Iwgor s
) Malleus, Incus and Stapes
Option C Ao, gIed AR wud
) Scala vestibuli, Scala media and scala tympani
Option D Tl el war fesify
Correct Option |C
Q. No. 3 Which type of enema is used to provide relief for the clients who suffers gaseous
0042003 distension?
¥ R &1 i 4y o4 | difsa e &1 v8d g2 Sedr 2 |
. Soap and water enema
Option A T vd 9rex ofEr
. Retention enema
Option B fRe=m i
Option C Medicated enema
ion
P Ad@es wiH
Carminative enema
Option D FAATeT T
Correct Option |D
Q. No. 4 Where is the temperature regulation centre situated?
0042004 T AT D5 $al Rerd siar 2 |
Thalamus
Option A ei‘ﬁq'\a
Option B Hypothalamus
' EFE DL
X Pons
Option C 'IIﬁ‘FH
) Medulla oblongata
Option D ASYT HATectivier
Correct Option |B
Q. No. 5 | Which criteria of the Profession deals with nurses' independent functioning and being responsible and
0042005 | accountable to the care they provide?
B 9T WBIA & AUEs 2 Wi P Wad smee, IR U5 tse—<ad & Wl $I¢ s
BT T 2
Option A

Page 1 0of 29



Specialized education

B FIF R G

Option B Body of knowledge
PHON B 1Y amme Aretat

Code of ethics

Option C| 15 amE
Autonomy
Option D GFI'IE'i:ﬁIfI
Correct
option |P
Q. No. 6 During which phase of therapeutic communication, the nurse should expect that
0042006 patient may t_est the competency and commitment of a nurse?
diugfes Han @ fod @vo1 @ <ivE ™ & 98 9=file o iRy 5 i
Th € &7 Tar FiY gfoEgar &1 NEv S 9oar 2 |
. Pre interaction phase
Option A 4l gew B
Orientation phase
Option B SIE] q;\_ﬂ

Option C Working phase
P afeT Bl

Termination phase

Option D =T B

Correct Option |B

Q. No. 7 | Which term best describes a group of total communities which live in a common area, speak a common
0042007 | dialect and follows a common culture?

B4 AT <H T G B UH GYE BT d¥c 9Ui SHdl 22 WAl UF GG ST H 38d 21 D
T el giad 2 iy v A st ST agEr svd 2

Clan
Option A EILF‘FI

) Tribe
Option B ara‘a

Caste
Option C I

Crowd
Option D IS

Correct

Option B

Q. No. 8 | Which type of memory is intact in an individual who is able to recall multiplication table that he learnt
0042008 | from the school?

T =fed 4 e ta @ 49 Ko 2| @ T 9 9l 12 Ao aifdst &1 ae
HY H |ed B

Semantic memory

Option A | =i AuY

Episodic memory

Option B | Rt iy

Flash-bulb memory

Option C | gaier o9 AR

Procedural memory

OPton D o Rersreet Awil

Correct
Option A
Q. No. 9 A plasma protein that maintains normal plasma osmotic pressure is
0042009 T TATSHT YE Wl AT WA ATaH e 29| 31 YT 2 |
. Albumin
Option A Q(v_eﬂfl]:r
Option B
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Thyroglobulin

Tert =g e

Option C %‘ﬁ’?ﬁﬁ:{

Hemoglobin

Option D

Transferrin

Correct Option |A

Q.
0042010 TEY BT S O S g2 9 a9 S G5Y LerEdn 2

No. 10 Which function of the heart pumps blood out of the heart?

Option A R faeetd

Atrial systole

Option B I=dmer Rl

Ventricular systole

2

Option C K'?fl'ﬂ?'l Wa

Atrial diastole

Option D

Ventricular diastole
dciqe Sletid

Correct Option |B

Q. No. While treating the patient who consumed corrosive poison, you recognize that the patient's throat is
11 swollen. Which of the following measures the nurse is expected to perform?
0042011\ sy fore wiefd wiex faT 2 &1 SUER &9 999 A0S USAET $1 A9 ST AT g§ T
2| f=fafaa 4 | $i9 °1 U uss= oA @ Iar $ar 2 |
) Induce the patient to vomit
Option A} wi1ft &t Sedl & forw g &=
) Give him some soothing drinks
option B\ gy fxw 99 2
) Give only hot liquids to drink
Option C| i} % forg w9 7 ovar =i 2
. Apply cold co_mpres:sion over neck
Option D| 1 uv 3T WifiswT an] o¢
Correct B
Option

12

Q. No. While administering medications to a client, a specific drug is to be administered 'AD’, what

0042012 fi5efl Fide &I wa1$ 34 WHA, Us fagiw war v € Wl 2| oS @ o arof 2

does AD refer to?

Option A m CIE

Right ear

Option B

Left ear
dTe S

Option C EiET T

Right eye

Left eye

Option D ave st
Correct
option |A
Q. No. 13 Which part of the oral hygiene activity effectively removes tar tar between teeth?
0042013 AN THdr TR ST $i9 91 2o 2ial ® 99 § 9R—aR &1 s 2|

) Brushing
Option A A EIL !
Option B Gargling
Option C Rmsm_g
Option D Flossing

At 3T
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Correct Option | D

Q. No. 14 Which micro organism causes scarlet fever?
0042014 HI AT Y& ofid TP e wa¥ o SN 2 |
. Streptococcus pyogenes
Option A Rwelsisd uaieTd
. Streptococcus equisimilis
Option B wwelsied
Option C Enterococcus fecalis
FoNipiey fhfedyd
Enterococcus durans
Option D TedBIeE g
Correct Option |A
Q. No. Which part of the stomach is situated at the distal end of the pylorus and guards the opening between the
15 stomach and the duodenum?
0042015 | g 1 Hi- AT f3ear Uiy & 482 $ BIX W e giar 2 iy de aix geoft & fm < ovar 2
Fundus
Option A S
Cardiac sphincter
Option B .
P Bifa®
R e
Option C 92
Option D Pyloric sphinctel:
Correct
option |P
Q. No. 16 Which of the following characteristics does not indicate mental health?
0042016 Frefafag feiydet & € aFfts w@red w30 T80 & 21
Emotional maturity
Option A ELIMECEE (R
. Sense of personal worth
Option B = 9% T aof
. Lowered productivity
Option C
Frustration tolerance
Option D BE I Sl e
Correct Option |C
Q. No. While examining the nails of the patient, you found that there are transverse depressions in nails
17 indicating temporary disturbances in nail growth. What are these depressions known as?
0042017 3 o= T, arar % H# Ul 9IS 2| ol AgA B
fawra § Ivrll 1S9 &1 Hod 29 21 39 JAGEIEl HI T ST Wl 2 |
Option A Beau's lines
Koilonychia
Option B | igart=fepa
Splinter haemorrhage
Option C - 6\117\}\_7[
Paronychia
Option D
Correct
Option A
Q. No. 18 Which of the following is the most common complication of urinary catheterization?
0042018 frr=ifafag & 9 999 9 A0 s o 99 2
Option A Urinary incontinence
T g
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Hypoactive bladder

Option B E}G‘\'

Option C Hyperactive bla:—:i%?

Urinary tract infection
Option D T Soe B EEH

Correct Option |D

Q. No. 19 Which of the following part of the respiratory system is the site for external
0042019 respiration?
a0 vl & FrefaRaa & @ si9 a1 90 9= = 9 foe werd 27
Trachea
Option A aﬁ,—m
Bronchi
Option B E?aﬂ—a‘
Bronchiole
Option C grFfeaa
Alveolus

Option D WW

Correct Option |D

Q. No. Psychiatric department in your hospital is conducting a screening program in primary schools to identify children
20 with Attention Deficit Hyperactivity Disorder. What level of preventive measures are employed here?
0042020 | gres< Sfpfie s vfrefad fow sy | difsy o= @1 g o33 & fau smue aegard
T foamr mafis el § e Wi sdHa A &Y 8 8 T8 W s su few
W W TS 21
Primary prevention
Option A | grerfiyss IiHum
Option B Secondary prevention
PION B A=t Yiwmam
. Tertiary prevention
Option C o
. Primordial prevention
Option D| fimrgfsarar St
Correct
Option B
Q. No. What is the time frame within which the telephonic or verbal orders for medications should be verified and
21 signed by the physician?
0042021| g7 wwg dW1 ¥ 2 fae Hiaw Sefiwia @ <ot @ fay #lfas sndal &1 fafvcas <amr
wanfug et sweRa fear s =rfee
Option A 4 hours
ption 4 T2
Option B 8 hours
pron Bl g we
12 hours
Option C 12 EfE"
24 hours
Option D 24 Eié
Correct
Option D
Q. No. 22 In SOAPIE format of documentation, what "P" refers to?
0042022 TEdd & SOAPIE ursy § P fraat wefia &xar 2 |

Present history

Option A EITT?"_{E %’Fgfi

Past history

Option B qve %ﬁ‘?
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Option C Problem identified

TTecq TS ToBISS

Plans for action
Option D Tl BIY TFEH

Correct Option |D

Q. No. 23 Which of the following is the warning sign of poor mental health among children?

0042023 e d @ o9 91 9= @ 49 wxE gEhe wWeg $1 3dEl $1 g9ed 21
Fidgeting

Option A

Suicidal ideas

i B
Option garged Igiear
Substance use
Option C IR o

Hallucinations

Option D EEIGERE

Correct Option |A

Q. No. In Carbon monoxide poisoning, what change would you expect in the skin colour of the patient?

24 S Hi ATHAgs Auadr § g M & w9 & 0 A 41 d99d) B 9Eie SR |

0042024

Bluish discolouration

Option A | g fireT feadmeRTH

Yellowish discoloration

Option B | steriger fewaaaiRe™

Cherry pink discolouration

Option C CIE |
. purplish discolourations

Option D o

Correct

Option

Q. No. A patient arrives to an Emergency OPD with active bleeding from nose. Which of the following action would
25 the nurse perform to prevent further bleeding?

0042025 | T & AfpA YoawATd & U1 Us T ATdasTa Ad<t § amar 2 1 Frefafeg & 9 sia ot
Topar M YeeITd &1 e & fow A SRl

Encourage the patient to sneeze

option A| gy @ forg Wil @i wicEiRa &

Raise the head end of the patient

option B yiafi & Rk & RR @i garg

Instruct the patient to blow nose

Option C| wi4ft &t <1w 98+ @1 S 9 2

Advise the patient to pinch the soft part of the nose

Option D\ y3f ot 91 & w9 2w &1 geal ¥ 9+ 31 Hals 2

Correct
Option

Q. No. 26 Which of the following statement is TRUE about the characteristic of a culture?
0042026 frr=ifafaa # 4 <17 a1 999 e awwfa o favivar & ar 4 a9 2

Culture is not acquired but inherited

Option A wepfa &1 aferreer 72 27 dfea favraa 7 faar 2
. Culture is non communicative
Option B wepfy dv ward 2

Culture fulfils only social functions

Option C Rl oa9d AHEIoe ST & 91 Sl 2

. Culture is subjected to change
Option D wepfa aitada & aefim 2

Correct Option |D
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Q. No. Which of the following is the genetic cause of Intellectual Disability (formerly termed as Mental
27 Retardation)? ] ]
0042027 | 314 w1 9ifgs fear &1 agaite SR 2| GidEd ded Rer2ym o off)
) Poor housing
Option A | gz sTafRiT
. Birth asphyxia
Option B aof
Phenylketonuria
Option C
Option D Maternal Rubella
PION P freverer el
Correct
Option c
Q. No. 28 Which of the following nerve helps in raising the upper eyelids?
0042028 frafafag § | =9 @ 9fFer S8 9asi 1 FUX 9o # A9E Sedl 2
Obtion A Optic nerve
ption GiEca
) Oculomotor nerve
Option B ATHEATeR af@T
Otion C Trigeminal nerve
ption 4
Facial nerve
Option D % 9T
Correct Option |B
Q. No. 29 The bone that has acromion process and coracoids process is
0042029 sel forad umifim ufpar sty sixisssy ufbar =id 2
Clavicle
Option A Tl fasa
Scapula
Option B ﬁ;‘a?,"
Humerus
Option C Eﬂw
_ Sternum
Option D =9
Correct Option |B
Q. No. 30 Which of the following mental health promotion activity is targeted for adults?
0042030 Tl » foe o & | =i9 O atas wren gasf wfafafr afta 21
Positive and consistent discipline
Option A THRTES AlY FRaw s
Provision for self expression
Option B e wfefe 3 fav gEEme
Sex education
Option C ;ﬁ;[ e
Premarital counselling
Option D e T
Correct Option |D
Q. No. An abnormal condition in which a patient uses multiple pillows when reclining to breathe easier or sits
31 leaning forward with arms elevated?
0042031| yer aramarg fRerfy forad oo it & afear &1 ST &xar 2| w9 e |4 9 amart sid 2
AT oIAT B I AT BT AT FHAT 2|
Dyspnea
Option A el
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Option B | Orthopnea

et fufrar

Option C

Fatigue

pfer

Option D

Wheezing

fafaT

Correct
Option

Q. No.
32
004203

You are connecting a nasal cannula to a patient who requires Oxygen. You are setting the oxygen flow
to 5L/min. How much of FiO2 (Fraction of inspired Oxygen Concentration) will be delivered to the

2 | patient?

a1 78 $ AGd ST € Wi To fodel ATFHIGA S AELIHT 2 | AT Ao gae
Bl 54 fire W de 3% 2@ 21 FiO; (B e s—aurgs ATedor) W & oo faaRa
foram S|

Option A

24%
24%

Option B

28%
28%

Option C

36%
36%

Option D

40%
40%

Correct
Option

D

Q. No. 33 An organism that causes tuberculosis in bird's is

0042033 T offg ot ol d cyERgelitaa &1 FIXeT 9991 2

Option A "Dl dedE G

Mycobacterium tuberculosis

opton® | mrgat dadte atfe

Mycobacterium bovis

Option C ‘:ﬁ%—ﬂb—i am W@P‘

Mycobacteirum microti

Option D APt T AGHI

Mycobacteirum avium

C

orrect Option |D

Q. No.
34
0042034

During first aid, which type of injury requires the application of ring pad?

urfe fafeear @ 2ivE 59 var @) 9ic @ fay N ds uliss 91 anawgsdan gl 21

Option A

Superficial burn injury

YRR 94 gl

Option B

Superficial laceration
gurip e dawe=

Option C

Blunt abdominal injury

doc Tssif¥ad gooldl

Option D

Penetrating abdominal wounds

THigfer gssiftima 9=

Correct
Option

D

Q. No.

35

0042035

In the coagulation process, which enzyme converts inactive fibrinogen to insoluble fibrin threads?

ST ghmar 7, S 1 vongy ey wfyatas o agaafia wefea ds 9 aRafifa sxar 2

Option A

Prothrombin activator

TrefiHeA TeddTY

Option B

Prothrombin

gieriHaA

Option C

Thrombin

efinfa

Option D
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Thromboplastin
sfivrgt
Correct
Option ¢
Q. No. 36 What is the name of the medium that changes colour when bacterium grows in it?
0042036 T HIEGH BT 1 A 2 Wl 99Nl ® 981 UX ¥ <ol @ |

Enriched medium

Option A wREs difsam

Enrichment medium

Option B wHREd = Aifsaa

Selective medium

Option C ifres Mifeaw

Indicator medium

Option D TSy Hifsm

Correct Option |D

Q. No. Which neurohypophyseal hormone increases water absorption from the kidneys and protects
37 body from dehydration?

0042037 | i |1 =X UGS Wi 2 4 Ul @ AN $i dem™l 2 AlY NN &1
Frofefieyor | w=mr 2

Vasopressin

Option A E?‘»Eﬁﬁﬁi:[

Oxytocin

Option B arrafreifir

Leutinizing Hormone
Option C | wrdifafsiar smi=

Thyroid Stimulating Hormone

Option D\ orrdvrgs weifeT smia

Correct
Option

A

Q. No. The physician prescribed morphine sulphate 2 mg IV. The medication is available in a vial
38 containing 10 mg/ml. How much of drug will you take from the vial?

0042038 | fufcas 3 Afpa Wewe 2 fiefrm [V fasee o1 21 a1 10 fefrm /o9 va 3o
I § SUAS 2| 9Fd € €91 3 fhae A |

0.1 ml
Option A 0.1 T
0.2 ml
0.29H Td
0.5 ml
0.59¢H Ta

0.6 ml
Option D 0.6@ T

Option B

Option C

Correct

Option B

Q. No. A 40 years old male got admitted in Medical Ward for whom a physicaian has prescribed Intra Venous
39 fluids. Over a period of 8 hours 2 pints of Normal Saline to be administered. At what rate the fluid to
0042039 | be given?

T 40 987 gy &1 Afsed 9 A 7df foar T, e foav fafecs A3 31 399 va3=
freffa fear 21 8 2 @ aEf @ fay 2 e 9rla doga wiifnds 5, wgss 5
= W faam wmar 2

_ 25 drops/min
Option A| 55 grw / fife

100 drops / min
Option B 190 gr=1 / ffore

) 125 drops/ min
Option C| 125 grw / fiifre

Option D
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150 drops/ min
150 g/ fafse
Correct
Option ¢
Q. No. 40 Which one of the following is TRUE about the principles of surgical asepsis?

0042040 = 7 | 319 W 9hisd awia 3 fagial @ IR 9 @ 22

Fluid flows against gravity

Option A TeaHN Y & faeg =4 98T

The edges of a sterile field are also sterile

Option B wWRRA fhee & weid A WRRA B4 2

A sterile field remains sterile even after long exposure to air

Option C WRRd fihos RN w&BdT 2 U & ai WaaTieY © 912 o1
. Only sterile objects may be placed on a sterile field
Option D Had WA ATelde WA Bles TR wd $¥ Had 2

Correct Option |D

Q. No. When an adult is under a great deal of stress, he is refusing to leave his bed and engage in normal day-to-day
41 activities. What defense mechanism is used by him?

0042041 | 5g U @%@ d5d a9 # sial ¢ df 95 a0l ey sissx faq ufofes & afofafted 4 =
TBdl 21 SU® a9 fd fsow dafom &1 swgiv fear mn 2

Denial

Option A %:IT&F?'I

Regression
Option B ﬁ'l]?THT-I

Repression

Option C ﬁ'l;h'l:l

Displacement

Option D =

Correct
Option

Q. No. Which term refers to science that deals with promotion of mental health and prevention of mental iliness
42 through the application of psychiatry and psychology?

0042042 | i w1 e foa=A »i weffad & 2 W aqfbe® WReg & dqdr 4 aiv #aifufeaar el
B E o 1 = e s 1 B B B 2 M M 1 2

Mental health
OPtion A| et Beer

Mental hygiene
Option B ﬁ'_c'?-l

Option C Basic psychology
pron &1 3ftres argsiaioll

) Applied psychology
Option D | wreqrgs wTgspiaiwi

Correct
Option B
Q. No. A 35 years old female was brought to the Emergency department with burn injury over the abdomen,
43 perineum and both thighs. According to Rule of Nines, what is the percentage of burn injury for this patient?
0042043 | us 35 quf Afgel &1 Ussiv=, G aiv <47 wrel @« wWod @ 9ic @ 91y
H a7 o1, Sd ATE A5 © Jg9R, 39 Ul @ fou wed o @ie &1 sfowm @ 2
. 18%
Option A 18%
. 19%
Option B 19%
. 28%
Option C 28%
. 38%
Option D 38%
Correct
Option
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Q. No. While measuring the blood pressure using sphygmomanometer, how the first Korotoff sound will be
44 heard?

0042044 | REpTHIAFIHICY BT SUAIT $d 5¢ IGaa1d &I A0d G99, TSl SINers @1 HE Gl omed] |

A sharp tapping
Option A |t éfﬁﬂ

A blowing or whoosing

Option B T Eﬁﬁ"T R gﬁ!"T

A crisp, intense tapping

Option C T mq' E'_CE‘H E"ﬁl’lT

) A softer blowing that fades
Option D| v giex =dAlfar ¢ B84

Correct
Option

A

Q. No. Which is the most reliable and accurate method to confirm the position of a naso gastric tube in
45 patients?

0042045 | 3ifirrt # wep AfhwT AHe® cg9 o1 Refy @1 gfic 31 & fov wed e o a9
ST BT W1 2

Auscultation

Option A mm

Aspiration of contents from tube

THRR YA A6 $1cc <4d |

Option B

. Measuring the pH of aspirated contents
Option C | e = HIOT

X- ray examination of the tube

Option D| =arg T garas &1 THIEoT
Correct
option | P

Q. No. After the war, the defeated country is forced to accept and follow the terms and conditions of winning country.
46 What type of cooperation is instituted in this case?

0042046 | g & o1& WNIfuid 2% &I oflad drd 29 @ el iy sl &) Wiow o iy araq &4 &
forg Awrgx frmr oen 21 59 9md d 5w UeR @1 wsEi wenfia faar w2

Option A Primary cooperation
P YTEN] BRI

Secondary cooperation

Option B | gpvgdl IRy

Tertiary cooperation

Option € | oererdt BIaR e

Indirect cooperation

31 SRNTE IR

Option D

Correct

Option ¢

Q. No. What kind of marriage system is followed in a society where male can marry several women who
47 would live separately to each other?

0042047 | waTel # fbw ave @1 faars womel &1 ureH far wiEl yew &3 afvenad | wEl &Y wHd
2 U TR W AT W 2

Endogamy

Option A @%‘i'ﬁ’"ﬁ

Exogamy

Option B Wﬁ‘:ﬁ

Matriarchal

Option C ‘:‘I‘ﬂ TR

Patriarchal

Option D ﬁ—tﬂ aTEe

Correct
Option

A

0042048

Q. No. 48 ‘
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A bacteriocidal enzyme found in nasal, intestinal secretion is------=========ucu=x
FFINTRSd Tgd 39d | U o 2 | geacsad eI 2
. Lysozyme
Option A EIEY|
Properdin
Option B
. Beta lysine
Option C
Polypeptides
Option D L
Correct Option |A

Q. No. A hormone that is produced by the kidneys and stimulates formulation of Red Blood Cells is

oo 42040 | T ETEIA Wi fred g1 fififa glar 2wk e @ Sifveet @ i B sAfia s 2

Renin

Option A ‘Eﬁ-’]?—[

Angiotensin I

Option B | gt fr 1

Angiotensin II

Option C| rafsmrie i 2

Erythropoietin
Option D
Correct
Option D

Q. No. When you are examining a 6-week postpartum woman, you find that she has been progressing
50 through a healthy post partum period. What would be her fundal height during the current visit?

0042050 | Wq 19 & WIS B TR Sl S ofid B I8 ol o 7 U & % 95 Us @ 0w
ey fias @ aregd € ol &% W8 21 $xce fafvie & SIvM 9us! Bsd SR el
g

6 fingerbreadths below the umbilicus

Option A| & fpR faser faell aEfera

No longer palpable over the symphysis pubis

Option B ot oty dodeer @maR @ faregRra wyfaw

4 cm below the top of the iliac crest

Option C| 4 Wi faert T <iv e = gfous

Still palpable above her pubic hairline

Option D| Aoy dedeael Tard &Y fis 2av aE+

Correct
Option

Q. No. When providing a nursing care to a newborn, the mother is raising a question "When will the
51 Caput Succedaneum disappear?". What response would you give to this mother?

0042051 | e qwiTd 1Y) &I ART I Fd g A1 S Wdld Ia1 &l 2 & 2Yc awafsan o9
TRE BT 39 AT 1 ang = gfafear 9

) Within few hours
Option A | fye g4 5 He

Within 12 hours
Option B| forer g1 12 we

Within 24 hours
fag 59 24 w2

Option C

Within 36 hours

Option D| faer = 36 w2

Correct

Option D

Q. No. A female patient is admitted in acute psychiatric ward after a suicidal attempt. She says to you " Why
52 am I still alive? There is no valid reason for me to live in this world. Whatever happened in my life
0042052 | was a failure only. I am good for nothing". What would be your response that promotes therapeutic
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communication with this patient?

% Afgar 7 SRS @ UM © 91 Ugge a9 # adl e wmar 21 98 wsd
2 °H apd) ot Siifag =i €2 A% g &1 39 srw A 21 A e d = 5 gam 98
Dad swad off | § fodt @ fay s=eh =% 21 amuat =0 gfafean =hft <t g ol @
a1y oR9gfes s-eyE S d9eE 21 2

"You have many reasons to live for"

Option A | e ure ofH @ o2 ST 2

"Why are you thinking in a negative way?"

Option B | iy qRTeA® adle | 11 99 @ 2

"You are depressed now. That's why you are talking so"

Option C | ooy g 9= 31, safey &y U 9id <2 &

"You have been feeling like a failure for a while?"

Option D | g oY 2% & forv fawerar 91 axe #eqy o @ 2

Correct
Option

D

Q. No. In a Rh-negative pregnant woman, what injection to be given following delivery or miscarriage to
53 minimize isoimmunisation?

0042053| us AR U™ Avifed Afean 9, AswHigfT ARG & 9 Fv1 @ fou Bl @ wHow =
9T o7 guiddH fear WEn 9rav |

Misoprostol

Option A f“'FH'i TEI"I'R"I'FI

) Rh Immune Globulin
Option B sy gy Tart=g e

Ferrous Sulphate

Option C| pyw wede

Magnesium Sulphate

Option D | 3r3fyrm Aok e

Correct
Option

Q. No. What is the ration between upper and lower segment of the body at birth as measured from
54 symphysis pubis?

0042054 | RppTsioT Wfaw | o1 & 999 INR 9 Sl AN e @s 3 99 39 7 star 2

Option A

Option B

Option C

Www|oo|oo|oo

HE | PR R =
OO |00 |([WW (NN
el el el

Option D

Correct
Option

>

Q. No. In the emergency department you are receiving a patient who experiences preterm labour. What would be your
55 priority nursing action for this patient?

0042055 | ug #¥el M1 ATAOST farT # fird @1 2 | ot died veafaRaa v ¥e1 21 359 78w & foy
FTUBT grfisar AT veEm B faw w4 s

Encourage her to carefully walk

Option Al 3t wTaum=it | @e @ fav gicarfzd &

Keep her in side lying position

Option B G_‘ﬁ |rgs AT

Obtain blood for hCG hormone test

Option C | gyaefisft g@f= @ <% @ fow <aa of=n

Ensure no one intitiates IV infusion

Option B gz & grwger @ forw Hig sPIfte 7 % gfiftag &
option |®

A 15 years old girl is brought to the psychiatry OPD by her neighbours immediately after a death of her
father. She looks very calm and controlled, does not show any signs of distress and responds to the
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Q. No. questions of the Psychiatrist in a gentle manner. The analysis of this behaviour indicates which
56 defense mechanism?

0042056 | ws 15 WTA Bl ASDI &I IUS (UdT S Yo & GId 915 I UsifAl g1 79T andist
H{ @ wrar 2 9% 9gd wia A Frta e 2 oty fod o ver @ [Rww o1 9ea
T2 femrh 2 v wim ofie | wifufecae @ "ol @ werd St 2| 39 A9ER &1
fazdwv gam @ % &9 o fsow d9fem 2

Denial

Option A fe=rra

Intellectualization

Option B ﬁﬁﬂmm

Rationalization

Option €| Jerqargais

) Sublimation
Option B | rarefier
Correct
Option A
Q. No. 57 Which of the following is the early sign of Rickets?

0042057 frafafad & @ o9 a1 Recw o1 kP 99 2

Rachitic Rosary

Option A Ipfes vad

Craniotabes

Option B ﬂ%ﬁﬂﬁ E}EH

Harrison's Groove

Option C E}ﬁﬂ:l LG

Pectus excavatum

Option D Y¥cH YhddcH

Correct Option |B

Q. No. A pregnant woman is presenting to the OPD at 35 weeks of gestation with severe facial and pedal
58 edema. Her blood pressure is 160/110 mmHg, proteinuria is 3 + and serum creatinine is 1.8 mg/dL.
0042058 | She is complaining of head ache, breathlessness and epigastric pain. In which of the following
categories would you classify her status?

v Hadl Afger w9l i dea ofear & Wiy A & 35 s @ o @ Wiy
It 2 SEer wEaaE 160/110 mmHg 2| R s+ sy dWem fufefe 1s
frferom/diva 21 98 R A =4 ara g aly chimdes =€ 9 Rerme 21 P 4 9
fow doft & g fow goft § Fardierd s34

Gestational Hypertension

Option A | Ged e BRURETH

Mild Preeclampsia

Option B | grges figdeufimrn

Severe Preeclampsia

Option C | P digeatIman

Eclampsia
Option D | wepeaf¥ran
Correct C
Option

Q. No. A 20 year male is brought to the Psychiatry Emergency OPD with severe stiffness over the neck and jaw after
59 receiving Inj.Serenace for his behavioural disturbances. What side effect would be the focus of this consult?

0042059 | usp 20 AT & J®N &I AAIaiGoaT savoi-dl <l d gviewd W39 fRfw Redw a4 =
e TEA HX 96 B AR SesT 9 9 AR WA, 39 W &1 s fed e uwe g

Neuroleptic Malignant Syndrome

Option A | Stddes Aol Ri=gia

Tardive dyskinesia

Option B arefya fxusfmm

Rabbit syndrome

Option C '\}é‘m ﬁq??'l?q

Option D
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Acute Dystonia
e fewtfmn
Correct
Option D
Q. No. 60 characteristic feature could be seen among children with Down's Syndrome?

0042060 313 fugis 9t s=a1 & T fagtwar 2= o 9 2

Macrocephaly with prominent occiput

Option A AFifawed fae viffii= amedifie

Flat face with upward slanting of eyes

Option B Tl BT AvErs wieT A6 ATgH
. Sharp nose with prominent nasal bridge

Option € ard T fiT wife=< dua e asa
) Long hands with 3 major creases in palm

Option D AN 2vo f9g 3 #oK fpdw 31 T

Correct Option |B

Q. No. While administering oxytocin infusion in a term pregnant woman, what rate should not be exceeded because it
61 is likely to cause titanic contractions?

004209l | pufach wften =t wreIciR TGS 29 gU few YT @ U A9 S aRv ity gEd
TEci® WdHad i1 @1 §HEA B

2 milliunits/min

Option A, firefrgfore / frfre

Option B 4 milliunits/min
4 fircig e/

16 milliunits/min

Option € 16 fyefgfore./ fifare

20 milliunits/min

Option 0 20 firsirgfire,/ fifire

Correct

Option D

Q. No. Which action from mental health team members would be appropriate while caring patients with paranoia?

8542062 UETRT w98 @) S@HTd SYd 99d, g Weed d9 % gew ¥ &4 O e st s

Increase socialization with other patients

Option A | g1 T & |1 AATHISHTOT 917

Avoid laughing or whispering in front of the patient

Option B | 7ivfy & W g ¥l UGBS & Jdigs by

Encouraging the patient to attend group therapy

Option C T T ﬂgmﬁmﬁﬁﬁmﬁmm

Encouraging family members to be away from the patient

Option D sfier & B ved @ forw uReN & wewdl o gieansd s

Correct
Option

Q. No. Which of the following findings would alert the nurse to initiate nursing actions to prevent post-partum
63 complications?

0042063 | fopiferRad BsfeT & @ =i € ¢ 3t uive Ued dAfcadet & ded & fay afdT sNaE s
v @ fou wad s

Oral temperature is 38°C during first 24 hours

Option A | et 24 wel @ =hvi= ave arga= 38°C 3

Blood pressure is 90/50 mmHg 2 hours after delivery

fsfoaft @ 2 =2 912 =i 49X 90/ s50mmHg 2|

Option B

) Urinary output is 60 ml/ hour )
Option C | I ar9e we 60ml/oe 2

Amount of lochia is 6 inches or less on a perineal pad

Option D | girfierer ds Uv oifrar &1 w639 @ 99 2
B
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Correct
Option

Q. No. Which of the following is the largest diameter and is measured during brow presentation?

o 12064 | FrEfeRET # & tv w1 wed gg1 srfiey 21 @ik @ uoRwH & e A S 2

Biparietal

Option A

Suboccipitobregmatic

e arrdmfiad e

Occipitofrontal
m "'a 6[

Option B

Option C

Occipitomental

Option D| grraefidiet dear

Correct

Option D
Q. No. 65 What should be restricted when preparing the diet for the children with Nephrotic
0042065 Syndrome?
dwifes fagia ardd 9=al @ fav amsr dUR ovd 999 o1 gfosfem st @nfee
Option A Protein
P e
Potassium
option B | o2 farem
Option C Vitamins
Option D Si:.:t(v_ﬁ
Correct
Option D

Q. No. 66 | At what frequency the nurse should monitor Foetal Heart Rate (FHR), uterine activity and
0042066 |maternal vital signs in a high risk woman during the first stage of labor?

Blea &¢ Yo, gfewm wdfad alv devia arged an= a9 &t fvw figar 7
W & YUF =TT 91 BARES Afgar § A &¥Ar a9y

Every 5 minutes

Option A | gt 5 fiieie

Every 10 minutes

Option B | y=is 10 firie

Every 15 minutes

Option C m?ﬁ 15 iil i<

Every 30 minutes

Option D | gt 30 e

Correct
Option

C

Q. No. 67 |Blalock-Taussig Shunt is the surgical management of which of the following congenital
0042067 heart disease?

=ATE—aifaT zie frefaias oo 229 9§ 9 feus afsisa adede 2

Atrial Septal Defect

Option A | g dwed femae

Ventricular Septal Defect

Option B | =g Aea fewae

Tetralogy of Fallot

Option C | 2=teisht amw BT

Transposition of Great Arteries

Option D | &g urofier s e aRfew
Correct
Option c
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Q. No. A pregnancy in which the foetus has died but the products of conception are retained in utero for up to
68 several weeks is referred as

0042068 | wg5 TrATaeelT fAdd H0T F IY 8 T2 @ dfed SIURM ® SAIEl &I H3 o0dl a8 THITT |
@I ST 8

Threatened abortion

9jds waieA
Inevitable abortion

Option B aqqﬁéaa K‘Hfm

Complete abortion
T I

Missed abortion

Option D ﬁﬁ .QET.E_F_I

Correct
Option

Option A

Option C

D

Q. No. 69 one of the following is the acquired cause of intestinal obstruction in children?

0042069 Frfefaa & | i9 91 9=di &1 ATdl § HHde &I BN o

Intestinal Atresia

Option A groxTergad iR
Option B Meconium ileus

prion deifran gforaw
o c Intussusception

ption <

Meckel's diverticulum

Option D Adpow Srgaichdd

Correct Option |C

Q. No. 70 | Which of the following is the natural cervical dilator made from desiccated seaweed?

0042070 |\ fop # & Hi9 O Ag¥d WaiHd SHOcY 2 o 5 Sfteds Widis @ = wman

Prostaglandin E;

Option A | mieraife E;

Prostaglandin E;

Option B | AR E,

Magnesium Sulphate Dilator

Option C ‘:i ﬁﬂ ﬂ?ﬁ?ﬁ’ iﬂ_\.'

Laminaria tents

Option D | Afiyfam 2=

Correct
Option

D

Q. No. Which among the following is the causative organism of tapeworm infection affecting children who consume
71 pork?

0042071 | Prfarflaa # & i w1 20 o g EE T Heifed ANTeM 2 o OF FgAH = ard gt
&1 wHETRE S 2

Taenia solium

Option A | ffirmr wiferam

Taenia saginata

Option B | P wfer

Echinococcus granulosus

Option C | sfpieptey Tgciad

Echinococcus multilocularis

Option D| eRrarisied HedlalagRy
Correct
option | A

Q. No. 72 | Which of the following is the ovarian factor that affects female fertility?

0042072 | PepeiferRares o & i w1 AARE Baex 2 Wit Afven BRI B gl wear 2

Option A
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Tubal adhesions
Y TSIH
Endometrial tumours

Option B | ygiatfrarel <y

Endometriosis

Option C Qﬁﬁﬁ?ﬁﬁﬂ?

Increased Prolactin levels

Option D | ——frag Utddafed dad

Correct
Option

D

Q. No. When you ask the patient "What did you have for breakfast?", she answered "Roti, Katti, Matti, Patti,
73 Thatti...". What is this response called as?

0042073 | g g ¥t @ ySd 2 % AU TMasa s & U 2,98 Sex 2ar @ W9, F91, "7, ud,
71, ga gfafear &1 Far o8 war 21

Neologism

Option A ﬁl’ﬂ?mw

Verbigeration
T

Option C Flight of ideas
ption C | wemrge ame Aty

Clang association

Option D ﬁ"T 'Qﬁﬁ:ﬂﬂ'l:l

Option B

Correct

Option D
Q. No. Mrs. Poonam was pregnant for the first time and delivered alive baby at 35 weeks. When the child
74 becomes 3 years old, she was pregnant again but had a miscarriage at 12 weeks. Then a few months

0042074 | later, she became pregnant again and gave birth at 39 weeks. What is the obstetrical score of Mrs.
Poonam using GTPAL system?

#frreft g el et 38 aix 35 www § Aifaw 9=2 &1 w1 e, w9 9==T 3 WA @
wimar 2 °f 98 5 | wad g dfea 12 wwe F miug 8 T ey g Al e
fier | waeht g2 ol 39 wws § w1 fewr) GTPAL (5t & H v wa) womedt &1
Fvd 3¢ At g &1 ugft Wi = 2

G3TiPi1 Al o

G3TiP1 Al o

G TiP1 Al L2
GaTiP1 A1 L

G3T2Po A1 L2
G3 T2 Po A1 L2

G3 To P2 A1 L2
G3ToP2 A1 L2

193

Option A

Option B

Option C

Option D

Correct
Option

Q. No. You observe that a patient becomes restless, walking here and there, making aggressive gestures and abusing
75 everyone verbally. What statement would be most appropriate to make to this patient?

0042075 | gmy 7Tt 2 o6 Uw el YTcelw 99T 2 ARI-9ET AL, ATHHS TR BT AN AiRaE w9 |
aHt Bt el 21, B9 W Eod= w44 wgifiwe W 3w ww 3 fow

"Be calm or else I will give you injection"

Option A | w17y ¥&t avaT § g guleer g

"Sit in your place ; All of us are scared"

Option B mmmﬂamﬁgﬂm%ﬁa%

"You look so restless. Tell me what is happening?

Y 954 994 fawd =, g3 Tam, T AT

Option C

"I need to restrain you if you don't confine to your bed"

Option D gifer arry gyt v ae difg = 2 o 43 amust dear s

Correct

Option c
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Q. No.
76

0042076 | gdfiea wdie™T @ IRM, A9 U THaEd Afdr @ e, A1 AR A1 ) & R OF @ldl

During antenatal assessment, you can see a blotchy, brownish, hyper pigmentation of the skin over
the cheeks, nose and forehead of a pregnant woman. What is this change called as?

gWR frmadss Swd =, 39 uRada &1 ¥91 &8l orar 2

Option A

Chloasma

EarSRkill

Option B

Linea Nigra
T

Option C

Striae gravidarum

wifasa

Option D

Vascular spider
UG WIS

Correct
Option

Q. No. In the antenatal OPD, a woman reports that July 10, 2019 is the first day of her Last Menstrual Period
77 (LMP). What would be the Expected Date of Delivery (EDD) according to Nagele's Rule?

0042077

2 Hrd @ M @ gur el &) st @ty s =i

wdHed M 4 va Afzar Rufe ol 2 5 10 g 2019 &1 99 aOfes gd &1 gar f&F

Option A

May 10, 2020
"2 10, 2020

_ April 10, 2020
Option B | o<1 10, 2020

Option C

May 17, 2020
H3 17, 2020

_ April 17, 2020
Option D orie7 17, 2020

Correct

option | P

Q. No.
78
0042078

When planning nursing care for the patients with obsessive compulsive disorder, what nursing action
would be appropriate to deal with ritualistic behaviour of the patients?

a4 e srgatte feaaEt ada &1 aRdT @9 1 gie=r 999 999 &I ar AR e
Hw @ Rgfords fRfmr 9 faed 9 fov sfua sm

Option A

Verbalize disapproval of the ritualistic behaviour

gdars fauyaa e = RYfnfs fRfRR

Option B

Do not support patients' effort to explore the behaviour
=GR Tl o & fog #¥e @ uarg &7 gheda T e

Option C

Provide negative reinforcement for the ritualistic behaviour

glargs Avfes Reywivad=< or = Ryfades fRfer

Option D

Initially provide time for rituals, then gradually limit the time

IRTIE utags o9 v Rygow iy ffiR—R w9w ot difg =1

Correct
Option

D

Q. No.
79

0042078 e % awrra firg] 1 SRS Adsew areh H# S SwHIA B Ao T ¥ 21 g9

The nurse is planning care for a newborn of a mother with Diabetes Mellitus. What is the priority
health issue for nursing consideration for this newborn?

Faura iy & fag R s fav mafiea @ g31 |1 2

Option A | caemi=ear faat

developmental delays

Option B

Low blood glucose levels

@l =S T@id ddd

Option C

Impaired sucking and swallowing

IS Ol Us wWidifan

Option D

Elevated body temperature

tfodes 99 SERER

Correct
Option
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Q. No. While performing a vaginal examination for a woman who is in labor process, you can feel scapula of the
80 foetus. What foetal presentation is expected in this case?

0042080 | e wfgenm ot oiax widd H 2 @ fag doma+e & S¥d 99, AT BV B Yol B AEGH HY
H&d 817 S 91 foed o<y o9 § Aufad 21

Option A Vertex presentation
PHON A | a8 e g2 e

Face Presentation

Option B ‘35'18 'EITT?T"FFI

Shoulder presentation

Option €| Hiwew got=2TM

Breech presentation
Option D| iy gi=t e

Correct

Option c

Q. No. A young adult male is brought to the psychiatric emergency department with hyperactivity, excessive speech

81 and grandiose delusions. Which of the following drug would you expect to be prescribed for him?

0042081| U AT d&EH Yo &I JARasaar, J@fEd amur aiy i-saig SwRwHA & 9 "=
amuraETe fanr § arr wwar 21 freafafeg § |8 si9 O =91 ao sue fae fAuifa s #9)
guflE S37 |

Flu Phenazine Decanoate

Option A | geg Rp=irer1 SBT

Fluoxetine

Option B qa—cﬂﬁiﬁq

Lithium carbonate

Option C | cofrrm wafae

. Zolpidem
Option 0| 3R
Correct
Option c

Q. No. A 5 years old child is presented to the Child and Adolescent Psychiatry Unit by her mother. The history shows
82 that the child has hyperactivity, impulsive behaviour, poor attention, fidgeting and impaired concentration.
0042082 | What medication would you expect to be prescribed for the child?

TS Uid 9Td & dod &l Sudl Al & NI 91 1Y fHIny F41NT 5358 § Uo-cs (Al odr 2 |
ey frmmh 2 5 o9 4 afowfraw svuafhe ffem, garm wwm, feedm aly s=iRs
HETCIH 2| AT ded & (070 Hid G €41 SEhIed &Y D ITET DY 2 |

Chlorpromazine

Option A | ivgiaSh=

Chlordiazepoxide

Option B | gatvsmeliuiadrss

. Lamotrigine
Option C

Atomoxetine

Option D Eﬁﬂi?ﬂ:‘;ﬁﬁ_ﬂ

Correct

Option D

Q. No. While conducting group therapy for the patients, which group of patients will not be allowed to attend?

83 #iet @ fay vz fafecar it sxd 99g foa wz @ At s 9 @1 @) agafa 38 @
0042083 mﬁﬁ%

Patients who use psychoactive substance

Option A | ot wit Wil Tadld @S =g &1 SYAT Hvd 2 |

Patients who experience anxiety

Option B | gt farl U=aailgel &1 QaEdNId Bidar 2|

Patients who can't manage anger

Option €| wrfie Wit argeT TEd B Aot E BY wHd B

Patients who are delusional

Option D | ey foriapt SeefoTial 2

Correct
Option

D
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Q. No.
84
0042084

You are providing nursing care to a preterm newborn baby. Which assessment finding would alert the nurse to
the possibility of Respiratory Distress Syndrome?

g fred e By @7 Igurd geE & @ 8l S vdedT &1 uar e | 99 &l
IRl feew fusgia &) 9YET & 98 § uar e

Option A E}ﬁ

Tachypnoea and Retraction
CElik ]

Option B

Bradypnoea and hypotension

Ifsffmar anv s

Option C

Weak cry and irritability

Option D

Incessant cry and cyanosis

A B3 AT AR

Correct
Option

Q.
85

0042085

No. Which type of acid base imbalance is most commonly seen in patients with Chronic Obstructive Pulmonary Disease?

HIE ATedciyed Tei- ool
ST 2 |

feoita @ Wifial & 59 o &1 tfis 49 srvqgad wed afgs dwn

Metabolic acidosis

Option A | Feraifers wwisif

Metabolic alkalosis

Option B | geraifires womal R

Respiratory acidosis

Option C =0 hrstfa
Option D Respiratory alkalosis
ption Tohal g
Correct
Option c
Q. No. 86 Which of the following disease is characterized by enlargement and tenderness of
0042086 parotid gland?
frefaRaa & @ fea s 4 dhifes 9 &1 91 @ SS9 3t Wil 2
Measles
Option A frored
M
Option B ql;:n;'ps
Rubella
Option C
prio SN
Option D Chicken pox
P o1 are
Correct Option |B
Q. No. You are receiving a 85 years old patient with diarrhoea and dehydration. For which of the following symptoms
87 of dehydration should the nurse assess? )
0042087 | aTq U 85 AT @ Wi &l fesm<SHyd sARAr @ @iy YT ¢ 2 21 s & fefafEa
WA H | A9 o1 JRrg s Gy
. Pale coloured urine, bradycardia
Option Al g7 weiks g8, dfsarean
Disorientation, poor skin turgor
Option B I, 3R W TR
. Decreased hematocrit, hypothermia
Option C| rpetfife @51 &1, sreuleRimET
Lung congestion, abdominal discomfort
Option D| a1 et €
Correct
Option |B
Q. No.
88
0042088
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You are assigned to a patient with excess fluid volume who complaints of shortness of breath. What would be
the nursing intervention taken by you to relieve patient's respiratory distress?

AMTAT TP A & Afafed avel A1 <8 Wl 2, o 9 &1 dhoi® &I 3H™a &edl o | 9l
»l YErRed fsew ¥ Rt 9 forw anue gmr fomr T afd T gexdy w1 gim

Elevate the head of the bed

Option A | gefide 8% anmw = s

Encourage the patient to cough and deep breathe

Option B | safy ot warel arty W=l WG o4 ® fog gicarad e
Increase fluids to promote urine output

Option C| iy argrege 99 & forg aver ueref wZgrw

Perform percussion and postural drainage

Option D | qeeprr aiv uieeya gAW &%

Correct
Option A
Q. No. 89 Which is the commonest cause of Infant Mortality Rate in India?
0042089 ARd # 1y 9 X &1 949 GFT SRV SiF 41 2
Prematurity
Option A
. Diarrhoea
Option B
X Congenital Malformation
Option C
. Respiratory infection
Option D RERR T F BT
Correct Option |A

Q. No. A patient with hypokalemia was treated with potassium supplements. When evaluating his response to
90 treatment, which of the following changes in his assessment should the nurse observe for?

0042090 | g w¥wT sEUECEHAT & Tefiga aEdE= & W gow 5 1@ or| STER & fav S9er
YW HT eI &d G99, 99 &1 A9 Jowisd # FrefafEa 7 9 &9 W oRadd &30
=Y |

Improvement in visual acuity

Option A | frgarel gaad & guIN

Worsening constipation
CEIEET

Option B

Decreasing serum glucose

Option C| ey st & He1

Increasing muscle strength
Option D| 7rqewr ®2 o1 # dfg

Correct
Option D
Q. No. 91 Which of the following syringe is used for BCG vaccination?
0042091 1 @ <ft Srevor & fow i 7 9 fog @ =1 9wt fear s 2
2cc
Option A 2 oy ot
Option B —
P 5w ot
. Tuberculin
Option C @q—\’q@?‘ﬁq
. 10cc
Option D 10 € bt
Correct Option |C
Q. No. Mr. Santhosh is receiving 5% Dextrose in Water at the rate of 100 ml/hour. One hour after the infusion starts, he
92 reports pain at the infusion site. On examination, the site is cool to touch and swollen. The infusion rate becomes

0042092 | sluggish. What might be happening for the patient?

sfi Waly & 100fich /et @ <X € 5 ufoed STugla 39 9ex fia o1 21 3geH @ s He
9% 9% TTRJod "z W <8 &1 Ruie @val 2| o9 W ¥ige, € &31 W §d A god o |
T X W Fi A 2| 7S B RS G 2|
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Phlebitis

Option A ‘Jﬁm‘éﬁ‘ﬂ
Extravasation
Option B | wrgerdsizm
X Allergic reaction
Option C Q?vﬁ\_:rﬁi
X Backflow
Option D aa; l:ﬁ-ﬁ
Correct B
Option
Q. No. 93 Intra Uterine Devices (IUDs) provide protection against pregnancy for how long time?
0042093 3¢l Ievrgd feagdy food a9 @ fay waiaeen | gar gee oedl 2
Option A 3 - 5 months
ption 35 AEA
. 1-2 years
Option B 1—3 AT
. 3 - 5years
Option C 35 W T
Lifeti
Option D %em
Correct Option |C

Q. No. The nurse is preparing to start IV infusion for a patient who has a history of Intravenous drug abuse. On
94 examination, the veins are sclerosed and multiple tattoos over both his arms. What would be the best approach
0042094 | to better visualize veins for IV Cannulation ?

a9 s U I 3 fau e 3T e o9 &1 A R @ 2| e o s gu
tgw 3 Rl 21 W FH W 99 Fodivors Al AIUA o SUS! il goen ) 21 IS @
Iy & fay 9 &1 dz0% ©0 €@ 2w & foau ge9d =T ader a1 27

Use cut down method

Option Al e gre faftr &1 SwaT &

. Use a blood pressure cuff
Option B | os B3R ®% HT SUAMT B

Use the multiple tourniquet method
T BT SUAA

Option C

. Have another nurse hold the patient's arm
Option D| =y < #éiet @1 e sies YT

Correct
Option

Q. No. The voluntary health agency that provides services in case of earth quakes, floods, epidemics is which of
95 the following?

0042095 | Fici=ed o1 Toidl Wl &, Tars AN vfefis # affw vem ot 21 i & @ =ih 2

Indian Red Cross Society
gfesa ¥% 9

Option A

Hind Kusht Nivaran Sangh

Option B| fareer g Framor |

Tuberculosis Association of India

Option €| yaqvayali e vwlifaeH ame gfvsar

Central social welfare board

Option D ezt wianfiel dem IR =i

Correct
Option

A

Q. No. What nursing action must be taken to prevent hospital acquired urinary tract infection among patients who
96 are on indwelling urinary catheter?

004209 | #¥rt Wi gAedferT AN Dedex W 2 999 flcd (MRS 570 & 9919 @ fag @ar afdwT
Te forr SR

Ensure an adequate intake of IV and oral fluids

Option A mﬁzﬁaﬂ?mmqﬂﬂﬂﬂﬂmﬁﬁﬂqﬁﬁﬂaﬁﬁ

Option B
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Use clean technique for catheterization

wefiSvEaIH @ o W95 da-ie &1 SUAT &9

Position the drainage bag higher than the bladder level

Option €| qrsfier 34w 497 BRR 24 =X dad

Maintain a closed urinary drainage system

Option D\ wes g2 = fareredt gomrell @y

Correct

Option D

Q. No. The mode of transmission in which diseases are transmitted due to coughing, sneezing or talking to infected
97 person is......

0042097 | HepauT &1 d¥iel Tordd Gofid <afed & @rad Sfed a1 Gofig =fed d 99 o4 @ erol
HHHOT BT 2

Droplet infection

Option A | Siwdte g7 M

Transplacental

Option B | o rorarded

Inoculation into skin or mucosa

Option C| sqtepeler 57 GBI AT Rybiw

Vector borne transmission

Option D| aaes gi+ grafiee

Correct

option | A

Q. No. A patient is receiving internal radiation therapy for a gynaecological malignancy. She expresses feelings of
98 isolation in her private room. What intervention would be best on the part of the nurse?

0042098 | T HIATIGA A= & v v o amafts fafeseor e o =9 @ 21 599 s
ol 8% & areATTg ®1 9191 &1 2ed Bear 21 9 &1 AIX 9 T 3redd I 9ad st i

Encourage patient's family members to stay with her

Option Al 3t % URAR & Wewl F SuS WM e B Ay weaed

Move the patient to semi private or common room

Option B | orfrq &t v wigde a1 990 9% d o WY

Instruct her about the safety procedures for internal radiation

Option €| 9aft 51 arefRes RRPRVT # fore GRem wbpmal @ AR 4 frdw 2

Spend more time with the client once work is caught up

Option D| wep X &TH @ & 9I= Folise & A1 STl G599 f¥ame
Correct
Option c

Q. No. Which term refers to the measures taken by health authority to a ship, an aircraft, a train, road vehicle to
99 prevent the spread of disease ?

0042099 | EETEey YIEEHNUT & ENT Weld, Uh (99T, Uh o Gs& 9l &1 SN & UN &1 dad & (o
BT @ T BT Sedw fHAT T 2 |

. Isolation
Option A

Elimination

Option B o1

Quarantine

Option €| e

Notification

Option D
PHON D e T

Correct

Option c

Q. No. Which of the following findings would the nurse consider as the earliest indicator of haemorrhage or shock that
100 should be reported to the physician?

0042100 | fr=faRad § & &4 O GRANST W48 Tgd @ God & ®T 7 AFT WU, EAEAE A1 dis o
Ffrcas & gfag fear w=r =ifzy

Tachycardia

Option A 1

Polyuria
Option B
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Option C | Nausea

i Fever
Option D oAy
Correct
Option A

Q. No. In which type of infection, the organisms that are normally commensals in the human become pathogenic when
101 the body's immune defenses are compromised?

0042101\ fry R & WHAYT H ol ofld GHFISY € Y § HEA9ed sid 21 4 IR 31 ghren =iw 9
TEEtar 39 ™ e 51 W 2 |

Epornithic infection

Option A | guifipefis HHHUT

Epizootic infection

Option B | uifiwri-ifes dHaom

Nosocomial infection

Option € | et et BTt eI

. Opportunistic infec_tion
Option D | arowg fredas EapA0T

Correct

Option D

Q. No. Which of the following criterion must be assessed by the nurse to determine patient readiness for discharge
102 from day care surgery unit?

0042102\ g # ® S &1 HIiedar 6 & g THE $¥ aee w4 PafRa 8 5 w6
ITHTE oR s vH 2 o Wi gfe | 2

Ability to drive an automobile

Option A | yretaiarge god ¥ wEw

Ability to move 50 feet

Option B| 59 wte #a @ i

Being pain free
Option C ﬁ‘:[ Wi g:g:n

) Absence of nausea or vomiting
Option D | Fysfiar ity st = gl

Correct
Option D

Q. No. The nurse working in geriatric unit often hears from clients that they become shorter as they grow older.
103 Which of the following factor is responsible this shortness?

0042103 | fgafee gfie # &M &3 drell 99 AT FaAZ< § gAdl 2 & & 98 4 & W Bic 7 A
21 39 o1 o fau frafafas 4 9 319 @1 e faser 21

Contractures
Option A | =g

Bone degeneration in the legs

Option B
P A B 99 A feaRIE
Hyperextension of the cervical spine
AR Hd WA $T 8N Qﬂé’?ﬁ
Water loss from the IVD of spine

OPtion D sqrery &t ard il & urehl &) &

Correct
Option

Option C

D

Q. No. Which of the following term refers to the time during which an infectious agent may be transferred directly or
104 indirectly from an infected person to another person?

0042104\ fpofaflag & | &i9 91 of 96 U999 & Hehid ovar 2 fawe <A s uwibe tde & Tad
AT JYH BT € TS Garag Afed ° gEN =afed # e e o wwar 2

Option A Incubation period
n
ptio F)

. Communicable period
Option B | grfpael fiie

Option C
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Generation time
SR <EH
Option D Serial interval
i
pHio gedd
Correct B
Option

Q. No. What care would the nurse provides for the patient undergoing a Schilling test for pernicious
105 anaemia?

0042103 mfiftmry gfifRm @ forg WiordiiT 2% W Tord @ W B 99 T SwETa gaE S|

Provide bed rest
q3 IE UM BT

Option A

Monitor vital signs
TRICd | AT &l

Collect 24-hours urine specimen

Option C | 54 52 w1 A= wWelids Herae ST

Maintain pressure dressing

Option D\ o2 gew ST

Correct
Option

Option B

Q. No. 106 | How many fully frozen ice packs to be used inside the vaccine carrier?

0042106 | iy aTed & e foad T o8 © W gd wEw G &1 ST A W 2

Two
Option A E‘f

. Four
Option B =R
. Six
Option C o
Option D Eight
ption aTa
Correct
option  |B

Q. No. A patient admitted with an autoimmune disease asks the nurse what it means. Which of the following would
107 be the appropriate response by the nurse?

0042107 | g& ATz g SN @& a1 Wl U #dw 99 € yuar @ f& s9e o a4 2 | Feafafea o
aﬁqmqﬁawaﬁﬁmﬁa‘mﬁﬂ—

Immune cells produce so many antibodies

g7 Od 939 OR U] BT Soaed $edl 8

Option A

Option B Immune cells grow and multiply too rapidly
Plion B | grry W gocll 2 Y 9ga dofl ° gl 2

. Immune cells are not produced in sufficient amounts
Option C| grpy |t &1 TAIW AT § Scdred &l gidr 2

Immune cells are unable to distinguish between 'self' and 'not self'

Option D| g1y Hel We® & 919 Al Ac W% ® 419 &7 av 721 $Y el 2

Correct

Option D

Q. No. You are education a patient with cardiac problem to consume high fibre diet. If the patient asks the reason for
108 it, what would be the best response from you?

0042198) yrq w1f® wwear @l =frd B 994 BIEER AR @ W B AT 2 <@ 2| AR <0 TET BR
gyBar 2 a9 I @ fay w4 s=d ufafear @ s

Increases absorption of nutrients

Option A\ vy aeal &1 ANV ST 2

Reduces cardiac workload

Option B| i 99 wis @1 o1

Reduces risk for oedema

Option C| 3gaw e wIX TAT

. Reduces appetite
Option D T\}_‘&,%
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‘ Correct | B

Option
Q. No. 109 Open vial policy is applicable to which of the following vaccine?
0042109 el ara greidt Prefafed 7 |@ fa der W wng star 2
Measles

Option A '-Fﬁﬁlﬂ:l

Japanese Encephalitis

Option B
Option C Rota Virus
ption <ier 9w
Hepatitis B

Option D Eﬁ f 4

Correct Option |D

Q. No. You are preparing a patient for a major surgery. Which of the following medication the physician may remove
110 from the medication order of this patient?
0042110| 3Ty U Ao Foidl @ fav ve afa dar ox 2 2 fafafaa 9 9 sta @ zar fafscs s
I 3 4B B9 | 51 Ghal 2
) Digoxin
Option A | petarii
Warfarin
Option B | grp iy
Famotidine
Option C EB'H?E}%TI
Furosemide
Option D\ weqmgs
Correct B
Option
Q. No. 111 Which of the following would the nurse expect to find in a patient experiencing the
0042111 Complication of heart failure from hypertension?
Fr=fafteg F @ ad @7 adar a0 o 0w sEOewH d B¢ wiaw &t
Sfeaar o7 S99 TYar § |
) Abnormal hair growth pattern on face
Option A et W AEE 9d faeE ded
Option B Distended Jugular veins in Semi-Fowler's position
ption |l Giga ueiiTE # Sedes Wi a9
Option C Pain in the right hand when writing
P 99 39 W3 2% a4 i
) Irritability when nurse is monitoring BP ]
Option D e v 7 4ft =) arfefr = &1 2
Correct Option |B
Q. No. In which type of the cardiac valve replacement surgeries, patients will be given anticoagulant therapy lifelong to
112 prevent thrombus formation?
0042112 | fopH UHN & HIfeTP dled Nw@d< H AWl & GIFET & a9 B Add & foIv v g o93d

arefra <1 s

Mechanical valve

Option A | A3y ared

Porcine valve

Option B | giefipT 9oy

Allograft valve
TAHITYE 9Ted

Option C

Option D Bovine valve
pHon D 3 91w

Correct

Option A

Q. No. 113 | Which of the following is one of the pillars under 'The End TB Strategy of 2015'?

0042113 | foriforfRad & | T ool 2015 @1 € Us Sl &1 I0HITT & dgd & a1 fex 21
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Option A Government commitment
AP DHIcH~<

High- quality DOTS Expansion

Option B | gy wporaar arel srew fawR

Empower people with TB

Option C | Ay | vt AT BT \ITET B

Bold policies and supportive system

Option D | s areliedt wa waifed Rieed
Correct
Option D

Q. No. If a patient is in pulseless Ventricular Tachycardia, which one of the following is the first choice of treatment?

U4 Iafe Hi3 it wed WRa ddger 29 A 4 2, af fre 4 9 39 @ SR ¥ usdh vww 2

0042114

Synchronized cardio version

Option A | frpt-gors wISal aoi

Option B Pacemaker
puon B g

Defibrillation

Option C | e fraeter

Antiarrhymic medication

0ption D |'Greaifes AT

Correct
Option

Q. No. A patient is admitted with complaints of shortness of breath. The nurse observes that patient becomes confused
115 and combative. Which of the following nursing action to be initiated on a priority basis?

0042115| gre &1 ddells & @19 Uh A¥W &1 &dl fpar wrar 21 99 78 Swcht 2 f5 < afm oo
widfes g war 2| Frafafag @ <7 @ RiT1 saE ofea @ oo w® gs @1 W
=Y |

. Ensure the o;g\?en is flowing correctly
Option A | 5 fop amadre=

e e 4§ 98 W@ 2

Page the physician stat

Option B | 451 = fpoliReM we

Put up patient's side rails and apply soft restraints

Option C P GgS I B X 7@ AR TIE U I

Administer an intramuscular sedative

Option D pgfifie w9 grgmemen defed

Correct

Option A

Q. No. Which of the following assessment findings the nurse may expect during physical examination of a patient
116 with emphysema?

0042116\ Pr=fafaa & @ »i= a1 ArHa" Frwd Feaar 2 & o veadm 9 @ e Of 31 Sisa
T & SivH SefE &Y 9edl 2

Diminished breath sounds

Option A | feafiivs g wevs
Purulent sputum
Option B | yat=e wgen

Generalized oedema

WRdlgvs s

Dull chest pain

Option C

Option D\ =5 A% o+
Correct
Option A

Q. No. Under the Prime Minister's Jan Arogya Yojana Scheme, how many members from each family are eligible to be
117 beneficiaries?

0042117 H‘H‘Hﬁ’:ﬁgﬁﬁ IR AT WIH F d8d, TS URIR @ TS aReR §@ fad weww arneff sid
% A

Four

Option A 104
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Option B | Six

B
Eight
Option C elc%a
. No limit
Option D :ﬁ e
Correct
Option D

Q. No. The nurse is expected to monitor blood glucose every 6 hours in a patient who is receiving Total Parenteral
118 Nutrition to detect which of the following complication?

0042118 oof & @m amem @ Wi 2 5 Woh B =X 6 e F = Tg@ie B PARET S @Ry ot ded
Reed e uTa &Y ¥ 2 9 4 9 9§ sfedar 1 gar @rH @ fag

Hyponatremia

Option A

Hyperkalemia
Option B b

Hypocalcemia
Option C yp

Option D Hyperglycemia

Correct
Option

Q. No. The nurse is caring for a patient with gastritis. Which of the following interventions would be appropriate for a
119 patient with acute gastritis?

0092119 of v Wy 78w 3 Sudd 3 W 2 Preafafag @ S @1 gewdye eyge iR
aret e @ fow Sugem s

Option A Monitor patient for bloody diarrhoea
P = s & fov 6w =) AT s

Explain that aspirin rarely causes gastritis
Tsfed &1 ST 9= a1 2

Administer phenothiazine to control vomiting

Option C | fipatemrafor vsfifey & 3ifadT &t sgiad o1 @ fag

Encourage a regular diet during the acute phase of gastritis

Option D| yerye wo1 & Wecisid @ =INM ¥eR s/@e & fay ggrar 2

Correct

Option B

Option A
Q. No. 120 NITI Aayog was established with which of the following aims?
0042120 fafy amiw frafafaa & 9 19 9 922w & fav venfia gam o
. To improve Indian economy
Option A A gefaraeen § guR & fou

To achieve sustainable goals

Option B e AEd Md W H3 B fag

To eradicate communicable diseases

Option C HRead O &1 sRfsse @ fav

To achieve high literacy rate
e GTEdT 8% UTW HeAl

Option D

Correct Option |B

Page 29 of 29



